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L1 L2 L3 L4 L5
V= (AtA) x 1/2 x L + (A+A) x 1/2 x L, + (As+A) x 1/2 x Ls
+ (A+As) x 1/2 x Ly + (As+As) x 1/2 x Ls
HEH (THRAAHFEX. BIEE)
A1 Az L1
V1= (252 x 1.51 + 2.49 x 1.25) x 1/2 x 5.02 = 17.425926 = 17.43
V2= (249 x 1.26 + 2.55 x 1.44) x 1/2 x 5.03 = 17.125641 = 17.13
V3= (2.55 x 1.44 4+ 2.36 x 1.35) x 1/2 x 5.00 = 17.145 = 17.15
V4= (2.36 x 1.35 + 3.02 x 2.01) x 1/2 x 4.95 = 22.909095 = 22.91
V5= (3.02 x 2.01 + 2.36 x 1.95) x 1/2 x 4.85 = 25.880085 = 25. 88
V Vi+ Vo+ Vz+ Vai+ Vs
17.43 + 17.13 + 17.15 + 22.91 4+ 25.88
= 100.50
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A—160—T A-160-T - LM-1 - LM-2 - LM-3 - LM-EJ
(0. 084m?)
A—190—T A-190-T - A-180-K - A-180-T - A-220-K - B-210-T - VB-A-190 - PA-3 -
(0. 100m?) PA-4 - A-190-TB - A-200-NF - A-50N EJ-7 - A-180-TA (2)
B—260—T B-260-T - B-250-T - B-250-K - VB-B-260 - PB-3 - PB-4 (B-240-K) -
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(0. 163m?)
J—350-—T J-340-T - C-325-T
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2 K + & ®E m3/T) 2 K <+ & {ATE& (m®/T)
PA—3 0. 066 A—190—TB 0. 086
PA—4 0. 081 B—260—TB 0. 117
PB—3 0. 101 C—250—T8B 0. 114
PB—4 (B-240K) 0. 099 A—200—NF 0. 080
A—180—K 0. 077 B—270—NF 0. 109
A—220—K 0. 092 C—270—NF 0. 108
B—250—K 0. 106 LM—1 (BEH) 0. 086
A—160—T 0. 067 LM—2 (BEH) 0. 088
A—180—T 0. 077 LM—3 (BEH) 0. 066
A—190—T 0. 077 LM—CP (BGH) 0. 103
B—210-—T 0. 085 LM—EJ (BEHR) 0. 092
B—250—T 0. 106 GA—240-—T 0. 096
B—260—T 0. 106 GBI—310—T 0. 123
C—250-—T 0. 102 GBO—310—T 0. 123
VB—A—190 0. 077 C—325—T 0. 130
VB—B—260 0. 106 J—340-—-T 0. 137
A—50N EJ—7 0. 077 J—350-—T 0. 137
B—50N EJ—7 0. 106
A—50N EJ—8 0. 100
B—50N EJ-—8 0. 134
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(GRIZERER) GtER%IE)
124.982m 124.982m
0.017m 0.017m
25.000m 25.000m (FRERUVBHHSHE)

& &t 149.999m INREE 1 SLEEE 149m

fl2. BaEREE (FOw R
(RIERER)
it % 1S
15H 1.81m x 1.43m x 0.45m = 1.175437m?
GtER#IE)
INGEE BHRIEER A 1.18m?®
2H5H 1.83m x 1.45m x 0.38m = 1.02216m?®
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INE SRIMUERE A 1.02m?3
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a &t 2.12 ¢ N 26U 2.1 ¢t
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